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Be prepared to answer these questions without your calculator.

1

.‘Use Pascal’'s Triangle to expand the binomials.

. How many ways can 2 people be chosen from 8? Write your answer in »P; or ,C; form and

find the value.

L9 -2

. How many ways can first, second and third placed be chosen from 6 part|C|pants’? Write your

answer in ,P; or ,C; form and find the value.

eP3 = 651 ‘.

. Write an infinite geometric series that has a finite sum. Explain how you know you can

calculate the sum. l7he. ceasean T lnowd “hat
10D+ 50+ 25+ 12.5+6.25+... |T can calemlete a Sum
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(xth Wy S2)+ 60O (2R Heo) + ()

W By S+ 28x2-32x +1b (Xg+cix11+27xv7-+275;3)
.Findt € numper of terms In each series. T Y Ly
a.7+5+3+..+(-15) b1+5+9+.+29
tn)=7-2(n~1) T19=9-2n tin) = 144 (n-1) 29= 4n- 3
-\5z9-2n+2 2=20 24 = (1+4(n-1) 22 =4n

-15= 9-2n 29 = |+ Un-4 > Y
- Qz=n - ,
. Write each serles from quéestion 5 In summation notation.

a) EE' ‘““"ﬂﬂ [4-24] ) z[w(n-u)] s [4n-3]

. A pendulum swings 8 inches on its first back-and-forth motion and only travels % the distance

on each future back-and-forth swing. How far does the pendulum travel if it swings forever (or
before it stops in real life)?

_ 8 ___ 8 _ 8.4 _ 2322
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You may use your calculator for these problems.

Combination and Permutation

8. Sarah needs to choose 9 people from her class of 20 for her softball team. How many
possible ways can Sarah choose her teammates? Write your answer in »P: or nC, form and

find the value.
- z°"9'18-l7-16~I5.,4.)9.,& - |
ZD q - 7. 9- 70605.‘).3,2.' - '67'QGOWMS

9. Ms. Carr, Sarah’s gym teacher, does not think it's fair for her to pick all 9 people for her team
so Ms. Carr has chosen 2 people who must be on Sarah’s team. How many possible ways
can Sarah pick her team now if she must choose Ms. Carr’s two students? Write your answer
in nPr or C, form and find the value. -
Chre muwiSt hew P\Ck 1 el VlCL'-"“-Q»S out ok “"he_, 18 whe e, ‘&4"'.
_ 1807061514130 _
|8C - 7.6:5.4.3. 2. | - 3‘:82"” WWIS

Arithmetic Series and Sums

10. Find the number of terms in each series.
a.19+26 +33 +... + 278 b.20 + 17 + 14 +...+-22
2718 = 19+7(n-1) 2bb=Tn 22 = 20-3(n=1) =-45=-3n
278 = 19+n-7  ("3g.n) -A=20-3n+3 "3 -3

2l = n . -4S8=-3n
11. Find the sum for each series in problem 10 then write in summation notation.
: b.
a8 \S
g {\‘\ F1Un-1 ] oc [rewn] E [20-3(n-1)] er ("3“*13)
n=\ nz | n |
Gum= 5643 | Sumz -\5

12. Find the sum of the series below.

13 ) | ’ 3
;4+8(n—1) 603); (4-4—[00) !;_")
thy= 4+8(1-1) (104)((. s)
th=4 s(13) = mg j



log(I7714°1) = (n)leg3
“Togf o %

Geometric Series and Sums , g ',
¢

13. Find the number of terms in each series,
8 r=3, Sn"708584
Ml'm-a 8(3) -a

b. -5 +-10 + -20 +...+ -2560
. -\
-2560 = (-8)(2)"

aa1

= +8 -5 ~s
708,584 = (32 -8 :411174, 8%3) sig = 2™ L?E’(—z))— = h-|
Hl‘llé& = [8(3)" -8 49 =3"_ - '63(513)'—‘(_2’_‘)_‘_"3_/ °3 |
. ... 13.Find the sum ofeacherles below. leg L leg 2 9 _= n‘"
. Ci 10 =
o U a.4+20+100 +...+ 48828124 b. a1=1.6, r—ZQFT‘T'T'F!U'( 4
r=5 Sum . 2441406204 1
= - = S(W)‘/G(z -le = 202128
48828124 (5) = 244140620 |_ z)_,,
(LAST TERM X MultiPLER = NEXT TER M) (1035154 ,
14. Write the following series in summation notation. 572864 = (‘(2)- ;5 - -
6+ 12 +24 + ...+ 1572864 ‘ e Co
o i | E AN n| lm.—ns
> 6(2) 262144 = 2 ‘
n=1 | log (262144) = -
log (2)

Logarithmic Equations \

15. Rewrite each logarithmic expression as one logarithm. o
b. 2 log(7xy) - log (%)

a. log(4x) + 3log(2x)

log (‘:x);‘lof;(mt) - log(hep)’ - \05 ¥
0g(4x- 8x’) loa (49" 49
GaGasy] o) l“ﬁ(?ﬂ

c. log2 (5x) + log,(6xy) — 2log,(4y)

|032(3Dx7) Ioal(léy) B
o, 35+ es, (m)l

16. Solve the logarithmic equations for x.

b. log,(16x) + log,(x) = log,(400)
0=x243%- log 4 (16%7) = logy (460)

 a.logie(x) +logie(x +3) = %

loﬁlla(*z‘L 3x) = L?-

o a,my, O=(xen ()
T = ¥ + 3% LI Sl
o _ 4 R=-4ix=1 ___H9X 1o
Y =>4 3% 16 I
C. Zlog(x) 10g(4x) =1 LI ZS
lo -——" - \ \0 = % }
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